B =T KE
e e R R
e LT PHAE ) T AT

16555\ PNEILR
N 32
Tal— TI = HNT—H
Hfrtz [ERANE| ¢ a— 24
A DO AR K [B]fiE 2 — R
5 g e A A — b HiE, 1502m
T 4=y a s 1213m
ks d=bry Hi € 2 A 289m
RET A — 9 2No. SAJ25-GS-50/91
1AH 2 KH
a— Ay H— EH O OAE a—AkyH— INEE
AIEH - A - A AIEHE - A - TN
ISR - B - AR ISR - B - e
ISR - C — e ISR - C -~ AR
JiARGE 43(43) A K — 9:15 TR %L 42(41) A K — R 12:00
Rige = EE Medium KA = EE Hard
AR—F/T 4=y V2 KR -7.1C / -6.0°C A —bF/T 4=y a R -5.6C / -3.9C
F=890
AL Ah=] =N B 1R 2A&XH & 7 1—x
No No K4 B 4 1L 155 I (S i N AV
1 23 949712 |[LHEZERTF 7N 1:39.89 1:40.43 3:20.32
DID NOT START [1st RUN]
DID NOT FINISH [1st RUN]
DISQUALIFTED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFTED [2nd RUN]

2012-03-02 / I FB DX F A X —F

G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



B =T KE
e e R R
e LT PHAE ) T AT

1555 PNEILR
INFAETR
Tal— T =N T—H
Hfrtz 76 J\HE a— 24
A DO AR K [B]fiE 2 — R
5 g e A A — b HiE, 1502m
T 4=y a s 1213m
ks d=bry Hi € R 2 289m
AEBRAF—T 3 No. SAJ25-GS-50/91
1AH 2 KH
A=Aty H— TH mE A=Aty H— N
AIEH - A - A AIEHE - A - TN
ISR - B - AR ISR - B - e
FiE#E - C - s AiAEE - C - ERPES
JiARGE 43(43) A K — 9:15 TR %L 42(41) A K — R 12:00
Rige = EE Medium KA = EE Hard
AR—F/T 4=y V2 KR -7.1C / -6.0°C A —bF/T 4=y a R -5.6C / -3.9C
F=890
AL Ah=] =N B 1R 2A&XH & 7 1—x
No No K4 B 4 1L 155 I (S i N AV
1 24 038063 fhHEAHE ) ~L7 1:23.66 1:24.04 2:47.70
DID NOT START [1st RUN]
DID NOT FINTSH [1st RUN]
DISQUALIFTED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINTSH [2nd RUN]
DISQUALIFTED [2nd RUN]

2012-03-02 / I FB DX F A X —F

G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



B =T KE
e e R R
e LT PHAE ) T AT

4555 PNEILR
INFAETR
Yal)— FTIT = HNT—H
Hfrtz [ERANE| ¢ a— 24
B K DA K A5 = — A
5 i e A A — b HiE, 1502m
T 4= a s 1213m
ks d=bry Hi € 2 A 289m
RET A — 9 2No. SAJ25-GS-50/91
1AH 2 KH
a— Ay H— TH O OAE a—AkyH— INEE
AiEH - A - A AiEH - A - TNy
AiE#H - B - SRR AiE#H - B - e
HiAESR - C - e ISR - C -~ AR
TR 2K 43(43) A K — R 9:15 Ji Ao 42(41) A B — R 12:00
R = EE Medium KA = EH Hard
AR—K/T 4=y v 2 KR -7.1C / -6.0°C A —bN/T 4=y a Rk -5.6C / -3.9C
F=890
NN Ap—} =N B 1AKH 2AKH & F L—=x
No No K4 B 4 1 L T 155 I (I N AV
1 25 083632 ZHjE HEt H< &SC 1:20.75 1:20.43 2:41.18
2 26 089878 KEF A )T 1:23.08 1:21.79 2:44.87
3 29 136752 “=HHET B M aEpE 1:25.58 1:25.74 2:51.32
4 27 071280 B HF kU A 1:25.93 1:25.93 2:51.86
5 28 872629 {®H 41 Bk 1:30.58 1:30.89 3:01.47
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFTED [1st RUN] 1
30 956993 =HLEF N GATE No. 29 , AA v F /Ny
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2012-03-02 / 1FBD X TR F—i G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



B =T KE
e e R R
e LT PHAE ) T AT

13555 PNEILR
N 32
Tal— T =N T—H
Hfrtz 76 J\HE a— 24
A DO AR K [B]fiE 2 — R
F5F g e A A — b HiE, 1502m
T 4=y v a S 1213m
i EBE R Hi| % R 2 289m
AEBRAF—T 3 No. SAJ25-GS-50/91
1AH 2 KH
a— Ay H— EH O OAE a—AkyH— INEE
AIEH - A - A AIEHE - A - TN
ISR - B - RN ISR - B - e
ISR - C — e ISR - C -~ RN
JiARGE 43(43) A K — 9:15 TR %L 42(41) A K — R 12:00
Rige = EE Medium KA = EE Hard
AR—F/T 4=y V2 KR -7.1C / -6.0°C A —bF/T 4=y a R -5.6C / -3.9C
F=890
NG Ap=b =N B 1KH 2AKH & F L—=x
No No K4 B 4 Wg M B R R R RA b
1 32 112299 E&QO (ME A% 1:28.37 1:24.57 2:52.94
2 33 138793 44y EmH MOST 1:32.62 1:35.80 3:08.42
DID NOT START [1st RUN]
31 086197 /PE  HAD 7T N A
DID NOT FINTSH [1st RUN]
DISQUALIFTED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINTSH [2nd RUN]
34 445087 F£xZ R TA v

DISQUALIFIED [2nd RUN]

2012-03-02 / I FB DX F A X —F

G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



B =T KE
N LT
e LT PHAE ) T AT

12555 PNEILR
N 32
Tal— T =T — X
Hfrtz 76 J\HE a— 24
A DO AR K [B]fiE 2 — R
F5F g e A A — b HiE, 1502m
T 4=y a s 1213m
ks d=bry Hi € R 2 289m
AEBRAF—T 3 No. SAJ25-GS-50/91
1AH 2 KH
a— Ay H— EH O OAE a—AkyH— INEE
AIEH - A - A AIEHE - A - TN
ISR - B - RN ISR - B - e
ISR - C — e ISR - C -~ RN
JiARGE 43(43) A K — 9:15 TR %L 42(41) A K — R 12:00
Rige = EE Medium KA = EE Hard
AR—F/T 4=y V2 KR -7.1C / -6.0°C A —bF/T 4=y a R -5.6C / -3.9C
F=890
AL Ah=] =N B 1KH 2AKH & F L—=x
No No K4 B 4 1L 155 I (S i N AV
DID NOT START [1st RUN] 1
35 923214 HEE RS Doing
DID NOT FINTSH [1st RUN] 0
DISQUALIFTED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINTSH [2nd RUN] 0
DISQUALIFTED [2nd RUN] 0
2012-03-02 / 1FBD X TR F—i G8/ 1

DATA PROCESSING by SE I KO TIMING by SETKO



B =T KE
e e R R
e LT PHAE ) T AT

2L - 25 5% AT PN
N 32
Tal— TI = HNT—H
Hfrtz 76 J\HE a— 24
A DO AR K [B]fiE 2 — R
5 g e A A — b HiE, 1502m
T 4=y a s 1213m
ks d=bry Hi € R 2 289m
AEBRAF—T 3 No. SAJ25-GS-50/91
1AH 2 KH
a— Ay H— EH O OAE a—AkyH— INEE
AIEH - A - A AIEHE - A - TN
ISR - B - AR ISR - B - e
ISR - C — e ISR - C -~ AR
JiARGE 43(43) A K — 9:15 TR %L 42(41) A K — R 12:00
Rige = EE Medium KA = EE Hard
AR—F/T 4=y V2 KR -7.1C / -6.0°C A —bF/T 4=y a R -5.6C / -3.9C
F=890
AL Ah=] =N B 1R 2A&XH & 7 1—x
No No K4 B 4 1L 155 I (S i N AV
1 36 953428 F M+ XL DA 1 1:24.11 1:24.21 2:48.32
DID NOT START [1st RUN]
DID NOT FINTSH [1st RUN]
DISQUALIFTED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINTSH [2nd RUN]
DISQUALIFTED [2nd RUN]

2012-03-02 / I FB DX F A X —F

G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO
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